CSE321    Embedded and Realtime Systems                                                Fall2008

Homework 5                                                                      Due date: 12/5 by midnight
1. Consider the following tasks with their resource requirements given as:

(a) T1: { 10, 4, 1;[A:1]} where the task executes for 2 time units, then requests resource A for 1 time unit.

(b) T2: { 7, 4, 2:[A:1][B:1} where the task executes for 1 times unit and then request resource A and then B;.

(c) T3: { 4,4, 3:[B:1][C:1]} where the task executes for 1 time unit, then requests resource B, and after 1 time unit requests resource C;

(d) T4: {0,11,4;[A:5[B:2]]C:1]} where the task executes for  2 times units, requests A and holds it for 1 time units, then makes a nested request for B; after that for C.

1) Construct the schedule for the system using only simple priority policy and illustrate the occurrence of priority inversion.

2) Apply priority inheritance and show how it addresses the problem.

3) Apply priority ceiling and show how that addresses the priority inheritance problem.

4) Implement the multitasks in the “test” directory as a application and get real results to support your work shown in the above questions.

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


